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Part 1: Reading (14 points) - The old cities of Egypt.... -
A/ Comprehension : - 07 pts -
2pts |05 | L a)F BT 9F & T
| o |os2 | 28§52 b3
25p | 05 3. 3).......10 establish the kingdom of Babylon.
05 b)......its geographical situation.
05 ©)........because he found it difficult to use the elaborate system of
| nail-writing of the ancient Sumerians.
1 d) a fortified frontier town - its strategic geographical situation - an
important commercial centre.
Ipt |025x4 | 4. a)The Aramaens. b) Damascus. <) The Aramacan business man
d) Aramaic.
0spt | 05 5. b) Damascus : The City of Trade.
B/ Text Exploration : - 07 pts -
2pts | 05x4 | 1 a)disappeared b) inhabited  c)safe  d)ancient
L5pt [025%6 | 2.
| Verb Noun
1o save safety 5
to commercialize | .. commercial
movement movable
Ipt | 05x2 | 3. a) Despite the fact that Damascus was a fortfied town, it was conquered by
Alexander the Great.
b) They could not use the Ancient Sumerians' writing, therefore they
invented a new alphabet.
Ipt 0254 | 4
One syliabe | Two syllabes | Three syllabes
mounds desert ~difficult
-another
LSpt [ 05x3 | 5. 1b, 2d, 3a , 4 [countthe couple]
Part2 : Written Expression : (06 points)
6pts Topic1:  form=3,5 pis
content =2,5pts .

Topie2: form=3pts
content = 3 pts
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Part 1: Reading (14 points) - All the children in the United States... -
A/ Comprehension : - 07 pts -
025pt [ 025 1. b. expository
2pts | 0,5x4 2. aT,bT , ¢F , d&T
0,5 pt 05 3. §3
3ps | 1x3 4. a- climate - space — environment.
b- it associates learning with their daily life.
Boardens their knowledge.
c- difficult to mix with other people.
0,75 pt | 0,25x3 5. a-children in the U.S.
b- to mix with other people.
c- most parents
0,5pt 05 6. Home - schooling in the U.S.
B/ Text Exploration : - 07 pts -
Ipt |025x4 | 1. a)about b) starts  c)opportunity d) difficult
15pt | 025x6 [ 2.
Verb Noun Adjective
to differ & = different
influence influential
criticize [ critic
2pts | 05 3. 1.b) Parents should send their children to school.
2.b) If you convince them, they will not refuse your justifications.
0,75 or 2.b) If you don't convince them, they will refuse your justifications.
0,75 3.b) I wish I had learnt how to play a musical instrument when I was a child.
4.
1,5pt | 0,25x6 7] a7 Tid/
‘mixed-picked | received-preferred cducated-included
Ipt | 025x4 | 5 1)either 2) home 3) children 4) classroom
Part 2 : Written Expression : (06 points)
6pts Topic1: form=3,5pts

content = 2,5 pts.
Topic2: form=3pts
content =3 pts
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